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MATRIX Class-VIII
LS P Class-Vill|

This section contains 07 Multiple Choice Questions (Q : 01 to Q : 07). Each question has four choices
(4), (B), (C) and (D) out of which ONLY ONE is correct.

1. Which of the following activities is easier to 5. Which of the following statement/s is/are
perform onadrum of 10 kg ? True(T) or False(F) ?
(A) Draggingthe drum (i) Friction can be reduced by converting
(B) Liftingthe drum sliding friction into rolling friction.
(C) Rolling the drum (i) Sliding friction always greater than static
(D) All ofthe above need the same effort friction.
o (iii) Streamline shaped bodies experience less
2. The friction does not depends on : o
o ) friction.
(A) Speed of object in the fluid
) Code :
(B) Shape of'the object o
: « () (i) (iii)
(C) Colour of the object x
. . : A)T F F
(D) Density of the fluid ™
N BT T T
3. What is the name of the instrument used to &y )T F T
N
measure atomospheric pressure ? P-4 MD)F T F
(A) Odometer ? )
¥ 6. Match Column — I with Column — IT and
(B) Manometer x

© select the correct answer using the codes
Barometer

given below.
(D) Speedometer
Column -1 Column - 1T
4. Which of the following quantity can be P. Weightlifiing 1. Magnetic force

measured using a spring balance ?
(A) Mass of an object

(B) Weight ofan object

(C) Density of an object

Q. Making a knot 2. Muscular force
R. Floppy disks & 3. Frictional force
Hard drives

Code :
(D) Volume of an object

Space for rough work

“Be passionate and bold. Always keep learning. You stop doing useful things if you dont’t learn. ”
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A2 3 1
@1 3 2
<2 1 3
™1 2 3
7. Spring balance is a device used for

measuring the force acting on an object. It
consists of a coiled spring which gets stretched
when a force is applied to it. Stretching of
the spring is measured by a pointer moving
on graduated scale. The reading on the scale
gives the magnitude of force.

In the given figure, the reading of spring

balance is : (g =10 m/s?).

X
i
MT‘“‘ x
™
N
=)
N
N
o
o
&
x
X
x
6 kg

(A) 120N

(B) 60 N

(C) 30N

(D) ON

Space for rough work
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PART II : CHEMISTRY

This section contains 06 Multiple Choice Questions (Q : 08 to Q : 13). Each question has four choices
(4), (B), (C) and (D) out of which ONLY ONE is correct.

8.

10.

11.

Which of the following polymers contains
fluorine ?

(A) Neoprene

(B) PVC

(C) Teflon

(D) Polyster

Which of the following polymers is chemically
least reactive and thermally most stable ?

(A) PVC

(B) Teflon

(C) Polythene

(D) Nylon

Which of the following pairs will give
displacement reaction ?

(A) NaCl solution and copper metal.

(B) MgCl, solution and aluminium metal.

(C) FeSO, solution and silver metal.

(D) CuSO, solution and zinc metal.

Which of the following statement/s is/are

True(T) or False(F) ?

(i) Aluminium appears dull in colour and does
not react with water, acids or alkalies.

(ii) Most of the metals can be beaten into

sheets.

(iii) Bromine is found in liquid state.

xxxxx (08221023 ##+xx*

12.

Code :

(i) (ii) (iii)
(A)T F F
BT T T
O F F T
D)yF T F

Match Column — I with Column — II and

select the correct answer using the codes

given below.

Column-1I Column - IT

P. A fibre stronger 1. Melamine
than steel wire

Q. Afibreknownas 2. Nylon
artificial wool

R. A fire proof plastic 3. Acrylic
Code :
P 0
(A2 3
B 1 2
)3 2
1

R
1
3
1
(D) 2 3

Space for rough work
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It is the tensile strength of a fibre that
determines its strength. It is the maximum
amount of stress that it can be subjected to
before the material ruptures or tears away.
Materials from fibres are made in various
strengths and degrees of durability. The tensile
strength of a polymer depends on the
arrangement of molecules that make up the
polymer, as well as the orientation of the
polymer. Polymers arrange themselves as long
chains when pulled lengthwise, these chains can
be stretched to a great length before breaking.
Which of the following has maximum tensile
strength ?

(A) Wool

(B) Silk

(C) Cotton

(D) Polyster

xxxxx (08221023 ##+xx*
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PART III : BIOLOGY

This section contains 07 Multiple Choice Questions (Q : 14 to Q : 20). Each question has four choices
(A), (B), (C) and (D) out of which ONLY ONE is correct.

14. A disease “Tetanus”is caused by which bacteria : 18.  Itis a green algae, which are found in fresh
(A) Clostridium tetani water habitat. It has a cell wall, nucleus and spiral
(B) Vibrio Cholerae chloroplasts. Identify the given picture ?

(C) Salmonellatyphi
(D) Mycobacterium tuberculosis

15.  Whatare the important steps in the preparation
of soil ?

(A) Loosening and Sowing

(B) Loosening and Turning

(C) Sowingand Turning i
X
(D) Loosening and Weeding. ;, (A) Chlamydomonas
I
o ) o (B) Filamentous algae
16.  Respiration and photosynthesis process are part &y )
) N (C) Paramecium
of which cycle- P-4 o
) O (D) Giardia
(A) Nitrogen cycle *
X
(B) Phosphorous cycle § 19.  Which of the following statement/s is/are
(C) Carboncycle True(T) or False(F) ?
(D) Sulphurcycle (i) Wheatisarabi crop.

17 What s the full f FEYMO? (ii) Tuberculosis disease is caused by a
. atisthe ormo )
bacteria.
(A) Farmyield manure ) .. ) . .
B) Forei q (iii) Fish production is associated with white

oreign yard manure )
revolution.

C) Farm yard manure
© y Code:

(D) Fullyield manure

Space for rough work
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() (i) (iii)
AT T F
BT T T
(OF F T
OF T F

20. Match Column — I with Column — II and

select the correct answer using the codes given

below.

Column -1

P. Fungus

Q. Virus

R. Bacteria

Code :

P 0

(A) 1
B) 3
(©) 3
D) 2

2
1
2
3

»—n»—ll\)ww

Class-VIll

Column - 1T

1. Bacteriophage
2. Lactobacillus
3. Rust of wheat

xxxxx (08221023 ##+xx*
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PART IV : MATHEMATICS

This section contains 30 Multiple Choice Questions (Q : 21 to Q : 50). Each question has four choices
(4), (B), (C) and (D) out of which ONLY ONE is correct.

21.

22.

23.

The reciprocal of a negative rational number :

(A) isapositive rational number

(B) isanegative rational number

(C) can be either negative or positive rational
number

(D) doesnot exist

Solve: | —138 | — | — 243]
(A) 105
(B) 381
(C) 381
(D) -105

Which of'the following is/are greater than x,

Whenx=ﬁ‘?

) . X +1
- @
o x+1

L —

(A) (1)Only

(B) (i)and (ii) only
(C) (i)and (iii) only
(D) (i1) and (iii) only

xxxxx (08221023 ##+xx*

24.

25.

26.

The sum of two numbers is 72. If one number
1s double the other number, then the numbers
are :

(A) 24,48

(B) 25,50

(C) 23,46

(D) None ofthese above

The digit in the ten’s place of a two-digit number
is 3 more than the digit in the unit place. If the
digit at the unit’s place is b, then the number is :
(A) 115+ 30

(B) 10b+30

(C) 11b+3

(D) 10h+3

Solve for x : 5x 2 (2x-7)=(3x-1)+ %
(A) 2
B) 3
1
(© 3

23
™

Space for rough work
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27.  Inasquare ABCD, the diagonals bisect at O.

What type of a triangle isAOB ?

(A) Anequilateral triangle

(B) Anisosceles but not a right angled triangle

(C) Arightangled butnot anisosceles triangle

(D) Anisosceles right angled triangle

28.  ABCDisaparallelogram. The angle bisectors
of ZA and /D meetat O. What is the measure
of ZAOD?

(A) 45°
(B) 90°
(C) 75°
(D) 180°

29. ABCD is a rhombus such that ZACB =40,
then ZABD isequal :
(A) 40°
(B) 50°
(C) 45°
(D) 20°

30.  Thenumber of times an observation occurs in
adataiscalledits:
(A) Range
(B) Classinterval
(C) Frequency
(D) Rawdata

xxxxx (08221023 ##+xx*

31. Study the pie chart and answer the following

questions :

Operating profit Rs. 130 Lakh

1990~91
Retained y
profit 25% r

Operating profit Rs. 160 Lakh

1991-92

Retained
profit 20%

Interest
40%

The interest burden in 1991-92 was higher than
that in 1990-91 by :

(A) 50%

(B) Rs25 Lakh

(C) 90 %

(D) Rs.41 Lakh

32. 18 out of 36 people love reading, so reading
in the pie chart will be represented by :
(A) 36 degree sector
(B) quarter sector
(C) semi circular sector
(D) None of'these

Space for rough work
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34.
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36.
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37.  Whatisthe cube of double of ‘a’ ?

The value of \/214+\/130—m153 (A) 16a°

(A) 14 (B) 2a

B) 15 (C) 8a°

(C) 16 (D) 4a2

(D) 17

38.  Asum ofmoney compounded annually, yields

Given ./5=2236, the value of Rs. 200 and Rs. 220 at the end of first and
J45 +/605 —/245 correct to 3 decimal second year respectively. What is the interest
placesis: rate ?

(A) 15.652 (A) 20%

(B) 11.180 B) 15%

(C) 18.652 (C) 10%

(D) 16.652 - (D) 5%

Which of the following are pythagorean triplet ? i 39.  Inwhattime will Rs. 1000 amount to Rs. 1331
(A) (2,3,5) g at 10% p.a. compounded annually ?

(B) (6,9,11) § (A) 4years

©) (5,7,9) 8 (B) 3years

(D) (8,15,17) : (C) 2years

x (D) 1year
If (504 + p) is a perfect cube number, whose
cube root is p, then the value of pis : 40.  Ifthe ratio of the ages of Maya and Chaya is

(A) 6
(B) 4
(©) 2
(D) 8

6:5 at present and 15 years from now, the ratio
will get changed to 9 : 8, then find Maya’s present
age.

(A) 24 years

(B) 30years

(C) 18years

(D) 33 years

Space for rough work
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Which of the following statement/s is/are 43.  Which of the following statement/s is/are
True(T) or False(F) ? True(T) or False(F) ?

(i) 91isaprime number.

(i) There is only one rational number between
2 4
3 and 3

(iii) The absolute value of zero is zero.

Code :
(i) (i) (iii)

(AT F F
BT T T
(OF F T
MF T F

Which of the following statement/s is/are

True(T) or False(F) ?

(i) Cube of anumber ending with digit 3 ends
with digit 9.

(ii) The sum of two perfect cube is always a

perfect cube.

/—8 2
,S . £
(iii) The cube of 77 is 3

Code :

(i) (i) (iii)
(AT F F
BT T T
(C©)F F F
®)yF T F

xxxxx (08221023 ##+xx*

(i) Increase of anumber from 150to 162 is
equal to an increase of 8%.
(ii) Ifacertain sum becomesntimesintyears,

then the rate of interest compounded

1
annually is given by R =100 {nt _1]

(iii) Compound interest charged per annum is
always greater than the compound
interest charged half yearly for n years if
n=1.

Code :

() (i) (iii)

(A)T T F

BT T T

O F F T

D)yF T F

Space for rough work
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Match Column — I (Algebraic equation) with
Column — II (with their solution) and select

the correct answer using the codes given

below.

Column -1 Column - 11

P. M=X+2 1. z

3

2y y_1

Q. 3 6 3 2.3

R.5(2x-3)-3 3.1
(Bx-7)=7

Code :
P Q R

A2 3 1

B3 1 2

<3 2 1

2 1 3

Match Column — I with Column — IT and
select the correct answer using the codes
given below.

When two dices are thrown simultaneously

then :

Column -1 Column - 1T
P. Probability of 1. 7z
36
getting six as
product

xxxxx (08221023 ##+xx*

46.

Q. Probability of 2. é
getting sum
divisible by 5
R. Probability of 3. é
getting sum at
least 11
Code :
P QO R
A2 3 1
B3 1 2
<3 2 1
™1 2 3

Match Column — I with Column - IT and
select the correct answer using the codes

given below.

Column - 11
1. Kite

Column-1I

P. A quadrilateral
which is equilateral
but not equiangular

Q. Lines containing
the sides of the

2. Rhombus

polygon that cross
the interior of
the polygon is

R. A quadrilateral
with reflection

symmetry across
one of'it’s diagonal is

3. Non-convex polygon

Space for rough work
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Code : 48.  Which of the following can never be the
P Q R measure of exterior angle of a regular polygon ?

A2 3 1 (A) 22°

@2 1 3 (B) 3¢6°

<1 2 3 (C) 45°

M3 2 1 (D) 30°

Paragraph for Questions 47 & 48

Manas made a star using match sticks as shown
in figure. Some one asked him to find some
angles related to that shape with the hint :
“The polygon is a shape made up of some line
segments. The sum of exterior angle of any

polygonis 360°.”

Sum of all the angles at the five vertices of the

adjoining staris:
A
E B
D C
(A) 180°
(B) 360°
(C) 540°
(D) 720°

xxxxx (08221023 ##+xx*

Paragraph for Questions 49 & 50

In class VIII, Mathematics teacher was
discussing about the topic “Partnership in
businesses”. He explained that when more than
one person invest in the same business jointly,
the profit or loss is shared in the ratio of the
investments made by the partners. The persons
who invest money in same bussiness, are called

partners.

Space for rough work
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A, B and C started a business by investing Rs.
120000, Rs. 135000 and Rs. 150000
respectively. Find the share of each, out of an
annual profit of Rs. 56700.

(A) Rs. 16800, 18900, 21000
(B) Rs. 18900, 21000, 16900
(C) Rs. 21000, 18900, 16000
(D) None of these

Alfred started a business investing Rs. 45,000.
After 3 months, Peter joined him with a capital
of Rs. 60, 000. After another 6 months, Ronald
joined them with a capital of Rs. 90,000. At the
end of the year, they made a profit of Rs. 16,
500. Find the share of each.

(A) Rs. 3300, Rs. 6600, Rs. 6000

(B) Rs. 6600, Rs. 6600, Rs. 3300

(C) Rs. 6000, Rs. 3300, Rs. 6600

(D) None of these

xxxxx (08221023 ##+xx*
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PART V : LOGICAL REASONING & 1Q

This section contains 10 Multiple Choice Questions (Q : 51 to Q : 60). Each question has four choices
(A), (B), (C) and (D) out of which ONLY ONE is correct.

Direction (51 — 52) : Choose the correct

51.

52.

53.

alternative that will continue the same
pattern and replace the question mark in
the given series.

ZA,Y B, XC,W.pD,?

(A) EV

(B) VE

(C) VE,

(D) VE,

3,4,7,8,11,12,?
(A) 7
(B) 10
(C) 14
(D) 15

In the following quesiton, a number of letter are
given. There are blanks which can be filled with
the help of the letters of the options below.
Choose the correct option and complete the
series :

_aa ba bb ab aab

(A) aaabb

(B) bbaab

(C) babab

(D) bbbaa

54.
X
i
o 55
N
o
-
N
N
©
o
3]
X
X
X
56.

Direction (54-55) : Point B is 25m South of point

A. Point C is 30 m East of point B. Point
D is 15 m North of point C. Point E is 10
m West of point D.

Ifpoint X is 30 m East of point A, then point D
is how far and in which direction from point X ?
(A) 10m, North

(B) 5m, North

(C) 15m, South

(D) 10m, South

What is the direction of point A with respect to
pointE ?

(A) North

(B) North-West

(C) South-East

(D) West

Five persons P, Q, R, S and T scored different
marks inan examination. If Q scored more marks
than S and T only while R does not score the
highest marks. Then who among the following
has the second highest marks ?

(A) P

B) Q

©) R

(D) S

Space for rough work
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In this question, if the given interchanges are
made in signs and numbers, which one of the
four equations would be correct?

Given interchanges : Signs +and —and number
4 and 8.

(A) 4+8-12=16

B) 4-8+12=0

(C) 8+4—-12=24

D) 8-4+12=8

If + implies =, x implies <, + implies >, —
implies %, > implies +, <implies +, = implies
—, identify the correct expression.

A 1-3>2+1-5=3-1<2

B) 1-3>2+1x5+3-1>2

(C) 1 x3>2+1x5%x3-1>2

D) 1-3>2+1x5=3x1>2

The sequence of folding a piece of paper and
the manner in which the folded paper has been
cut in shown in the following question figures.
How would this paper look (in the

respective options) when unfolded ?

X \% Z
OO
A) o
o
(o) o]
B)
o o)

xxxxx (08221023 ##+xx*

60.

© [

D)

Choose the alternative which is closely
resembles the mirror-image of the given

combination :

DLQCG4728E

(A) DraCCyAS8
(B) DraCGvi28
(©) 8sYrOOeId
(D) 8sv4ocCeld
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